
1
H(s) = 2N

l+(sIJw')

!.-Sidera series RLC circuit where the output voltage yet) is taken across
- :esistor and the input is the voltage x(t).

- Find the transfer function of this filter.
- What is this type of filter?

CP 8.3

-_-:.elliptic bandstop filter is to be designed. It should fulfill the following
:>o-ecifications:

-:.>= IH(jw)12 >= 0.95 w <= 1200 and w >= 1800
H(jw)12 <= 0.02 800 >= w >= 2200

1. Estimate the order and the cut-off frequencies.
2. Find the transfer function of the filter.

fOCP 8.4

_lot the magnitude and phase responses of Butterworth, Chebyshev Type I,
Chebyshev Type IT, elliptic, and Bessel LP filters. Let the order be 5 and the
cut-off frequency be 1. Assume Rp = 3 dB and Rs = 60 dB. Comment on the
_hase response of Bessel filter compared with others.

fOCP 8.5
Design a bandstop filter that has a bandwidth ~ of 1000 rad/ sec that can
reject the component sin(1414t) from the following signal



EOCP 8.6

Consider the following transfer function

H(5)=a52+b5+C
52 +d5+e

Design by finding the values of a, b, C, d and e the filters in the table beloF
(Hint: The transfer function above is for a Butterworth filter.)

HP 1000
BP 1000,2000

EOCP 8.7

A lowpass filter has a desired peak passband ripple of 0.2dB, and a minimu=
stopband attenuation of 40 dB; what are the values of £ and 8?

EOCP 8.8
Find and graph the frequency response of the transfer functions given by

H(5) = 0.25
2 + 1

52 +0.15+1

52
H(5) = -52-+-0.-15-+-1

1
H(5) = -52-+-5+-1

5
H(s) = -52-+-0.-1-5+-1


